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1 program gcd_slow (int x,y)

2 N —x 0O yQOOOooo

3 for (k«—1~N) {

4 if (x % k=0) AN (y % k=0) {
5 ans <« k
6
7
8
9

}

return(ans)

program end.
ObooO00 2100000000 ODO0OO0O0O0 gedOODO

program euclid_gcd (int x,y)
r — x%y
while (r>0) { #0O r0 0000000000000

X <y, §y <~

}

1

2

3

4

5 r — x%y
6

7 return(y)

8

program end.
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0O gnuplot OO

O00000000000000000000000D000 Gouplot FAQ, version 1.2 (1994/4/28)0
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(1) gnuplot O O

enuplot 00 0000000000000 ODOOOODOOOOO T. Williams O C. Kelley 00O
0000000000000 0000000000000000000000000000x**2
0O sin(x) 0000000000000 00O000000000O0O0O0O00O0O0O0O0O0O0O0O0O0OO
oooooobbobbbbotbotbooooooooboboboooooooog

(2) gnuplot 00 O0O0O00DO0O
000 gnuplot 00000000
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gnuplot > plot x+x**2+sin(x)

o Ox+xxx2+sin(x) 0L OOOOOOODOOOO
e 000000DDDDDDDDDDDONDNONONONONONONOOy=a2+2?+sinz0000
ggooaoo
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gnuplot > plot ’filel’

oOfileil0000ODOODODODODODOOOOOOOOO (r,y) DOOOOOOOOOOO
ooboooooooooooooooobogom
# 0J0ooobdb x, yOO «—#0000000O0OODOO

1, 4
2, 6
3, 8
e J000000D0DODOONOONOONOOD (¢,y) 000000O0DO0DODOOO
0000000000000000000000000

gnuplot > plot ’filel’ with line
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‘ gnuplot > plot ’filel’ with line, x+0.5%x**2 ‘

(3y 0000000
00000000000 z00000000000000000000

gnuplot > plot [-5:20.5] x+0.5*x**2

o[ [-6:20.5]00 . ODUODOODODODO
ubbybooboobbooboobon

gnuplot > plot [-5:20.5] [-2:200] x+0.5*x**2
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gnuplot > set logscale y
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gnuplot > set nologscale y

gooooboobooon

gnuplot > f(x)=a*x+b*xx**2
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gnuplot > f(x)=a*x+b*xx**2

gnuplot > a=3.4

gnuplot > b=35.45

gnuplot > plot f(x)
0oooooooooooooooad

gnuplot > set terminal postscript

gnuplot > set output ’file2’

ofile20 000D OODDOOODOODOOO

oODUOODLOODODOODLOODDLDOODLDOODDOOD
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‘ gnuplot > set terminal x11
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gnuplot > g(x)=a*x+bkx**2

gnuplot > fit g(x) ’datal’ via a,b

olgxNUOUODOD data’0000O0OO0ODLDODLOODOO

olvia a, bUUOOOOOOOOO0O0OOO0OOOOO0DOOOOOOOLDDOO
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Final set of parameters 68.3% confidence interval (one at a time)

a = 0.5 +/- 2.31063e-16
= -0.5 +/- 2.7763e-15
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gnuplot > g(x)=axx+b*x**2

gnuplot > a=3.5
gnuplot > fit g(x) ’datal’ via a,b
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